TMA4150/MA2201 - Midtsemesterprgve

The maximum score for each problem is 2, which gives a maximum total of 20.

On Problem 5, where there was a mistake in the problem statement, we have
given 2 points to all students who have ticked the two correct answers, and

disregarded the third cross.

Studentnummer 1 2 3 4 5|67 8] 9|10 Sum
14216] 1 2 2 oj1]0|1f|2f2]0O0 11
640802] 2 0 0 ofl2]J]0]J]0f0]2]0O0 6
646902 2 0 0 2120110 2]0O0 9
646932] 2 2 2 21222122 2 20
653723] 2 2 2 o|l2]|]0|2|2[0fO0 12
654553] 2 2 2 o221 1f2]2]| 2 17
657807] 2 0 2 o|j1]2|l0fl0f2]O0 9
659745] 2 2 2 2112222 2 19
661338] 2 2 2 21221212 2] 2 20
666141] 2 2 2 21222122 2 20
666275] 1 0 0 oj1]0|lO0f|2f[0fO 4
666551] 2 0 0 o220 2|2]2]|2 12
667127] 2 2 2 o|j2]|]0|l2|0f[O0fO 10
668954 1 2 2 of1]2]J]0f0] 2] 2 12
668960] 2 2 2 o|l2]|2|1|2f2]0O0 15
669158] 1 2 2 of2]2]1[0]0]| 2 12
669224] 0 2 2 212212120 2 16
669473] 2 2 2 2122112 2| 2 19
669479] 2 2 2 21221212 2] 2 20
669494] 1 2 2 2122110 2| 2 16
670594] 2 2 2 o|l2]|2|2|2|2] 2 18
670734] 2 2 2 of2]12]11f|0] 2] 2 15
673153] 1 0 0 oj1]0|2|2f2]2 10
673432] 1 2 2 of1]2]11f2]2]| 2 15
673545] 1 0 2 21 2f2]10]l0| 2|0 11
673791] 2 2 2 212|210 2| 2 17
673826] 2 2 2 2120l 220 2 16
673881 2 2 2 2122212 2]| 2 20
674784 2 2 2 o|2]|2|1|2f2]0O0 15
676348] 2 2 2 o212 1f2]2]| 2 17
676422 2 2 2 ol 22|12 2] 2 17
676433] 1 2 2 2122112 2| 2 18
676435] 1 0 0 o|j2]|]0|1|2f2]0O0 8
676438] 2 0 2 o212l 2|0]0]| 2 12
676449] 2 2 2 21221212 2] 2 20
676454] 2 2 2 212|220 2| 2 18
676458 2 2 0 o|j2]|2|1|2f2]0 13
676465] 2 2 2 of2]12]11f2]2]| 2 17
676466] 1 2 2 o|j1]2|0f|2f2]0O0 12
676476] 2 2 2 211|212 2| 2 18
676478] 2 0 0 212211121 0]|0 11
676480] 2 2 2 ofl2]0]1f2]2]| 2 15
676482 1 0 2 o|j1]2|2|0f2]0O0 10
676485] 1 2 2 of1]2]1f|0] 2] 2 13
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